30 12 13

G )
28
3,444 3,444 0| 0| 0 0
Ho7 H29 HaL
27 89tha - 31 928ha)
ha 897ha ha 928ha
+
27 307 - 31 33
307 343




H27 |He8 [H29 [H30 [H31

A12-001 ( (1-8ha) [ I B B BN 611 (1.48
)
A12-002 ( (0.6ha) u 94 11.33
A12-003 ( ( [ I T B 738 [H29
A12-004 ( ( m s m|m|nm 669 [H29
)
A12-005 ( 2 [ I B A B | 624
) 5
A12-006 1 u 708 1.06




H27 |He8 [H29 [H30 [H31




H27 H28 H29 H30 H31
@ 24 86 56 26 32
(b) 0 0 0 0 0
(c=a+h) 24 86 56 26 32
) 4 0 49 0 4
(e) 28 36 102 22 19
) 0 49 0 4 15
0 0 0 4 5
(h = c+d-e-f) 0 1 3 0 2
(i = (g+h)/(c+d)) 0 1.16 2.85 15.38 19.44
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